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GUESS PAPER-2010
CLASS-XII
SUBJECT- Chemistry

Question 1. ,The name of the drug is 2-acetoxybenzoic acid. 

(a)Name the drug? 

(b)What is its other name? 

(c)Draw its structure?,(a)The drug is Aspirin 

(b)Its other name is Acetylsalicyclic acid 

(c)Structure is C6H5OCOCH3-COOH

Answer: 

,The name of the drug is 2-acetoxybenzoic acid. 

(a)Name the drug? 

(b)What is its other name? 

(c)Draw its structure?,(a)The drug is Aspirin 

(b)Its other name is Acetylsalicyclic acid 

(c)Structure is C6H5OCOCH3-COOH 
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Question 2. ,A hydrogen halide eliminated from the reactant molecule to form the product. 

(a)Name the reaction? 

(b)What is the product formed,alkene or alkyne?,

Answer: 

,A hydrogen halide eliminated from the reactant molecule to form the product. 

(a)Name the reaction? 

(b)What is the product formed,alkene or alkyne?, 
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Question 3. ,Does honey treat as a good coagulating anticeptic.Why?,

Answer: 

,Does honey treat as a good coagulating anticeptic.Why?, 
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Question 4. Explain how an OH group attached to a carbon in the benzene ring activates 

benzene towards electrophilic substitution?

Answer: 

The lone pair of electron present on Oxygen atom of the OH group shifts towards benzene ring as a result the electron density on benzene ring increases at "Ortho & Para" positions. This is due to resonance. Due to enhanced electron density at ortho and para postion, the electrophilic substitution takes place on benzene ring at "o & p" positions.Since the OH group provides electrons to benzene ring, it is said to be an activating group which activates the benzene ring towards electrophilic substitution. 
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Question 5. State the de Broglie relationship. How do de Broglie waves of a moving particle differ from electromagnetic waves ?
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Question 6. How is the basic strength of aromatic amines affected by the presence of an electron releasing group on the benzene ring ?

Answer: 

Basic strength of aromatic amine increases when an electron releasing group is attached to the benzene ring 
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Question 7. Mention a chemical property in which methanoic acid differs from acetic acid.

Answer: 

Methanoic acid (HCOOH) gives Tollen's Test in which the acid on reaction with Tollen's Reagent gives black precipitate of Silver (Also termed as "Silver Mirror Test"). Ehtanoic Acid will not show Tollen's Test. 
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Question 8. Express the relation between the half-life period of a reactant and its initial concentration for a reaction of nth order.
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Question 9. How many atoms can be assigned to its unit cell if an element forms 

(i) a body centred cubic cell, and 

(ii) a face centred cubic cell ?

Answer: 

Body centred cubic 

~~~~~~~~~~~~~~~~~~ 

The body centred cubic has one atom at the centre of the cube. Besides, it also has 8 atoms, each at one of the 8 corners of the cube. corner atoms are shared by 8 other atoms. So, the contribution of 8 corner atoms to the unit cell is 1/8X8=1. the centre atom at the body centred cube is not shared by any other atom. so its contribution to the unit cell is 1. So, total no. of atoms/unit cell=1+1=2. 

Face centred cubic 

~~~~~~~~~~~~~~~~~~ 

In a face centred cubic, there are 6 atoms in the faces, each at one of the 6 faces of the cube. the face centred atoms are shared between two unit cells.So, the contribution of face centred atoms is 6X1/2=3. Besides, it also contains 8 corner atoms shared by 8 other unit cells. so, contribution of corner atoms is 8X1/8=1. So, the total no. of atoms/unit cell=1+3=4. 
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Question 10. (a) Write the following about protein synthesis : 

(i) Name the location where protein synthesis occurs. 

(ii) How do 64 codons code for only 20 amino acids ? 

(iii) Which of the two bases of the codon are most important for coding ? 

(b) What deficiency diseases are caused due to lack of vitamins A, B, B6 and K in human diet ?
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Question 11. (a) Write chemical equations for the reactions of glucose with 

(i) acetic anhydride and 

(ii) ammoniacal silver nitrate solution. 

(b) Draw simple Fischer projections of D-glucose and L-glucose. 

(c) What do you understand by replication by DNA ? How does DNA differ from RNA structurally ?
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Question 12. (a) State the function along with one example each of : 

(i) Antihistamines 

(ii) Antioxidants 

(b) What are hybrid propellants ?
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Question 13. (a) Assign a reason for each of the following statements : 

(i) Alkylamines are stronger bases than arylamines. 

(ii) Acetonitrile is preferred as solvent for carrying out several organic 

reactions. 

(b) How would you convert methylamine into ethylamine ?
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Question 14. (a) Write the structural formula of 3-phenylprop-2-enal. 

(b) Write one chemical equation each to illustrate the following reactions : 

(i) Aldol condensation 

(ii) Cannizzaro's reaction
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Question 15. Illustrate with examples : 

(i) Lyophilic and Lyophobic sols 

(ii) Multimolecular and Macromolecular colloids 

(iii) Homogeneous and Heterogeneous catalysis
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Question 16. A first order reaction takes 69.3 minutes for 50% completion. Set up an equation for determining the time needed for 80% completion of this reaction.
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Question 17. Comment on the validity of the following statements, giving reasons : 

(i) Thermodynamically an exothermic reaction is sometimes not spontaneous. 

(ii) The entropy of steam is more than that of water at its boiling point. 

(ii) The equilibrium constant for a reaction is one or more if D G° r for it is less than zero.
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Question 18. (a) What is meant by linear combination of atomic orbitals ? 

(b) Illustrate bonding and antibonding molecular orbitals based on homonuclear 

dihydrogen molecule.
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Question 19. How is bakelite made and what is its major use ? Why is bakelite a thermosetting polymer ?

Answer: 

trwe 
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Question 20. Give an illustration of Reimer-Tiemann reaction.
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Question 21. What are enantiomers and diastereomers ? Differentiate between chiral and achiral molecules.
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Question 22. Describe the steps involved in the preparation of either potassium dichromate from sodium chromate or potassium permanganate from manganese dioxide.
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Question 23. Write one chemical reaction each to show that 

(i) Tin (II) chloride is a reducing agent. 

(ii) Chlorine gas can be obtained from bleaching powder.
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Question 24. Why are primary amines higher boiling than tertiary amines ?
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Question 25. How are formalin and trioxane related to methanal ?
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Question 26. Express the relation between the half-life period of a reactant and its initial concentration if the reaction involved is of second order.
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Question 27. State the formula relating pressure of a gas with its mole fraction in a liquid solution in contact with it.
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Question 28. What is the maximum possible corrdination number of an atom in an hcp crystal 

structure of an element ?

Answer: 

12
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